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All the questions arc compulsory. Students should write their Roll No. on the questions paper

@uEs—31 (Part—A)
~1. e {599 g Tafan g & =m s

Name the book written by Adom Smith. : !
2. fadaw gvs s ®? .
What is secondary data? 1
3, et @ st fefan _.
What do you mean by questionnaire. _ !
4. sudm i fran e wed €2
What do you mean by consumption? 1
5. fawr =t aead aﬁmﬁﬁ%wmﬁl
Name two countries following socialist economy. . 1
T e W TR RO H e e L —
Write two similarities found in the definiation's given by Marshall and Robins. 2
7. =nidfer womett & fafim wedl =i fafed |
Write different forms of economics system. 2
8. erdfume fagm ¥ sigar e 41 Rl T Siferd ?

Is economics science or art or both? 2

9. Yeiar) w e srderaen § s fafad

Give differences between capitalist and socialist economy. 2
_10. "3 TR WA 75 T HEAH 70 B A TETTH I S0
If the Arithmetic Mean is 75 and the median is 70, then find the Mode. 2
11, @ived dvi ud o o srafvea Aol F S e |
Differentiate between Discrete series and Continuous series? 2
_ 12. i frd e § 2 Sofia AR e Faed | '
What do you mean by Tabulation? Write the importance of Tabulation. ' 3
13. T SR A0 % ST T U6 el ) A |
Explain the essential elements and objectives of an Ideal Classification. 3
14, Tet e Soit 1 FEAG A A9 it -
Find the Arithmetic Mean of the following data : 3
T (Class Interval) | 4655 [ 3645 | 26-35 | §8-25 o§-09
amgfa (Frequency) 20 36 54 32 8 '
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[21]

71 W] § T I Wi

Find the Median from following data :

= (x)

20-30 | 30-40 | 40-50 | 50-60 [ 60—70 | 7080

st ()] 3 5 | 10 [ 20 [ 15

. Freffan sTafa wRol A Sgew T R |

Find mode from the following frequency table :

= (x)

2040 | 4060 ] 60—80 | 80100 | 100—120 | 120140 | 140-160

160 -180

9 11 14 20 - 15

IECCAGIEE

wus—d (Pa rt—-B)

. Rda e 1 e Trl a1 ST & 2

Who is known as the Father of Indian Planning'?

. 7% (MUDRA ) &1 g0 7% faf@

Write the full name of MUDRA.
i § 7 werd ® 2

What does dumping mean?
fram gy’ R ?

What is "Trickle down Effect”?

iy fag & diq Fasd |

~—<—~What are the sonrces of agriculture finance,

e

22.

23.

24,

25,

i TR Y ?

What is 'Kyoto Protocol'? .

IRAT T R ia i< & IE @R ?

What was the impact of Green Revolution on Indian Agriculture?
“Ae-gA-sfem’ il AERA |

Explain 'Make in India".

faear IR % YgE HEEA (FK T:) IR

Describe programme for poverty Alleration. (Any six)

. SR T W F qEEE 'y 9 g9 S

Give any three suggestions to control unemployment.

. Tt yeguy & frfam S % gaa

Suggest suggestions to control environmental pollution.

. T % WHY IR sreferae S yqa fakiaand wagma |

Describe the main features of the Indian Economy-at the time of Independence.

. eyt srEuren | F1 A ® 2 Ff daddh & fag gam <

What do you mean by concept of Swadeshi? Give suggestion for export promotion.
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